Suppl. Table 2. Outcomes that were reported in <5% of articles
	

	

	Attitude towards age at surgery

	Balanitis

	Balanitis xerotica obliterans

	Concern about others opinion

	Endocrine biochemistry

	

	

	Failed hypospadias repair

	Functional neourethra

	Gender identity

	Genital hair

	Genitourinary complications

	

	

	Glandular shape/size

	Graft fibrosis

	Had wished closer follow-up

	Infertility

	Intraurethral hair

	

	

	Karyotype

	Knowledge about hypospadias

	Length of neourethra

	Lichen sclerosus

	Linear growth

	

	

	Midline septum

	Obesity

	Orchido/epididymidis

	Overall well-being

	Parental decisional regret

	

	

	Partnership status

	Paternity

	Penile elasticity

	Penile skin sensation

	Penile testosterone response

	

	

	Penile/penopubic junction

	Penoscrotal oedema

	Pubertal status

	Recurrence of hypospadias

	Residual hypospadias

	

	

	Scrotal complications

	Scrotal satisfaction

	Semen quality

	Social well being

	Socioeconomic status

	

	

	Split glans

	Tortuous urethra

	Urethral dilatation

	Urethral prolapse

	Urethral rupture

	

	

	Urethral stent extrusion

	Urethrocele

	Urolithiasis

	

	


Table was arranged alphabetically. Is this ok? Which table do you prefer, 1 column or 2 columns?
